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Answerall questions in the spaces provided.

1

(a)

Which of these numbers is a multiple of 67

02*

1 3 e 15 18 19
[1 mark]
Answer
1 ()  Which number is four more than a square number?
2 9 20 21 25
[1 mark]
Answer
* = Prepare ' 6056
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2

Match each expression on the left with the simplified expression on the

right. box One has been done for you.

[4 marks]

Ta
4a +ba
Oa
14a-"Ta
18a
4b x 4b
G
2X9a
Sa
25a +5
20a

03*

Turn over for the next question

Turn over »
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A gym has 400 members.
35% are bronze members.
25% are silver members.

The rest are gold members.

Work out the number of gold members.

Answer

0O4*

[3 marks]
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Lawn mower rental: Fuel:
£30 per day 3-litre can £15
5-litre can £24

Tom wants to rent the lawn mower for 2 days
and buy 8 litres of fuel for the mower.
Work out the smallest total amount he could pay.

Turn over for the next question

O5*

[3 marks]

Turn over »
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Do not write
outside the

5 (a) Alanislookingat number machine problems. box

+2 -6

He says, [1 markK]
“If Tknow y I can work out x.

[ subtract 2 thenladd 6.”
Does this method work?

Give a reason for your answer.

5 (b)

:

X 3 +4 d

T

He says,
“If  know d I can work out c. [t mark]
I divide by 3, then subtract 4.”
Does this method work?
Give a reason for your answer.
% Prepare ' 6056
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5 (o) Solve 5x+10 =50

[2 marks]
Answer
5 Work out the value of 4r + 5t whenr=20 and t = -5 [2 marks]
Answer .
6

Turn over »
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6 Sam and Nicky each buy 320 tea bags.

Small packs
80 tea bags for £1.50

Large packs

160 tea bags for £3.20

Sam buys only small packs.
Nicky buys only large packs.

In total, how much more than Sam does Nicky pay?

Answer

[4 marks]

08*
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Do not write
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7 (a) Write the same number in both boxes to make the calculation correct box
[1 mark]
X — 225
7(Mm)Solvex =5 [1 markK]
5
Answer

7 (c) Worite a fraction in the box to make the calculation correct
[1 mark]

—_— X — —_
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Do not write
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box

8  Eeshu has collected 450 coins for a charity fundraiser.
Each coin is a 50p piece.
She decides to distribute the coins equally among 12 donation boxes at her school.
She puts as many coins as possible in each box.
How much money, in £, does Eeshu have left after filling all the boxes?

[4 marks]

Turn over for the next question

Turn over »
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9(a) Multiply out 9c (4d +2)
[2 marks]
9(b) Rearrange y=x -7 to make x the subject. Circle your answer.
[1 mark]
X=7 X=y+T X=Ty X=y-T7
Yy
% Prepare | 6656
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10

The sketch shows

the line y = x

line A, which is vertical
line B, which is horizontal.

[2 marks]
The point (4, 8) is on both line A and line B.

ya line A y=x
Q line B
% P X

Write down the coordinatesof Pand Q.

P( , ) Q( ;

Turn over for the next question

Turn over »
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Do not write
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(@ A group of friends decides to rent a van for a weekend trip.
The total cost of renting the van is £240.

If there are 8 friends in the group, work out the cost per person.

[2 marks]
Answer £
11 (b) Hereisa triangle.
15cm
./‘)
[3 marks]
=
12 cm
Use Pythagoras’ theorem to work out the value of y
Give your answer as a decimal.
Answer
* = Prepare ' 656
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12 Jack and James go to the cinema. Here is the price list.
Ticket £ 3.50
Ice cream £4.20
Pop corn £1.90
Drink £1.50
Crisps £1.50

Jack and James buy a ticket each.

Jack has popcorn and a drink.

James has Ice cream and a crisps.

They pay together with a £20 note.

How much change do they get?

Answer

Do not write
outside the
box

[3 marks]

Turn over »
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13(a8)  The volume of this cuboid is 220cm °
Work out the length of the cuboid.
Sem
1lem
[2 marks]
13 (b) Work out the surface area of the cuboid. [2 marks]
Answer
*15* 2 Prepare ' 6036
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14 (a) Write down all the cube numbers between 50 and 300 [2 marks]

Answer

14 (b) oy = Tx

Which statement is correct? [1 mark]
Tick one box.

y is 315% of x

y is 350% of x

X is 250% of y

X is 400% of y

Turn over for the next question

Turn over »
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15 (a)

[2 marks]
Matilda and Ellis decide to meet between their two houses.

The meeting place is 27 miles from Matilda’'s house and 39 km from Ellis’'s house.

Use 8 km =5 miles to decide which of the following statements is true.

Ellis lives closer to the meeting point than Matilda

Matilda lives closer to the meeting point than Ellis

Ellis and Matilda live the same distance from the meeting point

15 (b) In aschool library, the books are either fiction or non-fiction. [2 marks]
The ratio of fiction books to non-fiction books is 7 : 13.
What percentage of the books are non-fiction?

Answer

17 * X Prepare | 6056



16
A and B are points on a circle.

C is the centre of the circle.

Tick one box for each statement.

Definitely
true

Line AB is a tangent to the circle

AC is an arc of the circle

Triangle ABC is equilateral

Turn over for the next question

18*

Do not write

outside the
box
Not drawn
accurately
[3 marks]
Might be Cannot be
true true
7

Turn over »
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Do not write
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box

How many hours are there in 6 days? Circle your answer

[1 mark]
54 92 144 122
18 i
Factorise fully 25x +100 (2 marks]
Answer
19 The masses of some Kittens were recorded.
The smallest mass was 4 kilograms 500 grams.
The range of the masses was 350 grams. (2 marks]
What was the largest mass?
Give your answer in kilograms and grams.
Answer
* % Prepare ' 6636
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20

Isabelle buys pet food in 3.5. kg packs.
Her pet needs 0.8 kg of food each week.
She wants to have enough food for the next 12 weeks.
She already has two 1.3 kg packs.
Work out the smallest number of packs she needs to buy.
You must show your working

Answer

*20%

Do not write
outside the
box

[4 marks]

Turn over »
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21 James gets paid £12.30 per hour.
On Monday he starts work at 09 15 and finishes at 16 30.

2l(a)  How much does James get paid on Monday?

Answer

It takes James 15 minutes to walk to the bus station.

home.

Here is a section of the bus timetable.

Bus station |Kingfisher Close
16 45 16 55
17: 00 17:10
17:15 17:25
21 (b) What is the earliest James could arrive home on Monday?
Answer

21*

[2 marks]

He gets off the bus at Kingfisher Close and it then takes him 5 minutes to walk

[3 marks]

% Prepare ' 6056
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Do not write

22 Triangles ABC and ABD are both isosceles triangles, [3marks] oot
where AB = AC and AD =BD

Angle ABD =60°.

Work out the size of angle x.

Answer

Turn over for the next question

Turn over »

* 5 x % Prepare ' 6656



Do not write

outside the
bo

23 On the grid below, draw the graph of y = 4x — 2 for values of x from -1 to 3. x

Y

104 [3 marks]

= -
N~
wTr
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24 8 cakes cost £16.80. Work out the cost of 12 of these cakes

[2 marks]
Answer
25 Work out the value of a% 4a when a =10 [2 marks]
Answer

END OF QUESTIONS —
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